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(1) 125,80,45,20,?
[A]5

[B] 8

[C]10

[D] 12

Answer : [A]
Explanation:

The pattern is - 45, - 35, - 25, .....
So, missing term =20 - 15 =5.

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

2)9,27,31, 155,161, 1127, ?
[A]316

[B] 1135

[C] 1288

[D] 2254

Answer : [B]

Explanation:

The patternis x 3, +4, x5, + 6, x 7,.....
So, missing term = 1127 + 8 = 1135.
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(3) 28, 33, 31, 36, 2, 39
[A]32

[B] 34

[C] 38

[D] 40

Answer : [B]
Explanation:

The patternis +5,-2,+5,-2,.....
So, missing term = 36 - 2 = 34,
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“1,2,6,7,21,22, 66,67, ?
[A]70

[B] 134

[C] 201

[D] 301

Answer : [C]

Explanation:

The patternis +1,x3,+ 1,x3,+1,x 3, + 1,.....
So, missing term = 67 x 3 =201.

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(5) Arrange the words given below in a meaningful sequence.
1. Wall  2.Clay 3.House

4. Room 5. Bricks
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[A]5,2,1,4,3
[B]2,5,4,1,3
[C]12,5,1,4,3
[D]1,2,3,4,5
Answer : [C]
Explanation:

The correct order is :
Clay Bricks Wall Room House

2 5 1 4 3
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(6) Arrange the words given below in a meaningful sequence.
1. Infant 2.0ld 3. Adult

4. Adolescent 5. Child
[A]5,4,3,2,1
[B]3,4,2,1,5
[C]2,3,4,5,1
[D]1,5,4,3,2
Answer : [D]

Explanation:
The correct order is :
Infant Child Adolescent Adult Old

1 5 4 3 2
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(7) Arrange the words given below in a meaningful sequence.

1. Leaves 2. Branch 3. Flower

4.Tree 5. Fruit
[A]4,3,1,2,5
[B14,2,5,1,3
[C14,3,2,1,5
[D]4,2,1,3,5
Answer : [D]

Explanation:

The correct order is :

Tree Branch Leaves Flower Fruit

4 2 1 3 5
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(8) Arrange the words given below in a meaningful sequence.
1. Patient 2. Diagnosis 3. Bill 4. Doctor 5. Treatment
[A]1,4,2,3,5
[B]11,4,3,2,5
[C]11,4,2,5,3
[D]4,1,2,3,5

Answer : [C]
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(9) Arrange the words given below in a meaningful sequence.
1. Leaf 2.Fruit 3.Stem 4.Root 5. Flower
[A]3,4,5,1,2
[B]4,1,3,5,2
[C]14,3,1,2,5
[D]14,3,1,5,2

Answer : [D]
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(10) Statements:

I. The meteorological Department has issued a statement mentioning deficient rainfall during monsoon in many parts of the country.

II. The Government has lowered the revised estimated GDP growth from the level of earlier estimates.

[A] Statement I is the cause and statement I1 is its effect.

[B] Statement I is the cause and statement 1 is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [D]

Explanation: Both the statements I and II are effects of independent causes.
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(11) Statements:

I. The prices of food grains and other essential commodities in the open market have risen sharply during the past three months.

II. The political party in opposition has given a call for general strike to protest against the government's economic policy.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.

[E] Both the statements I and II are effects of some common cause.

Answer : [A]

Explanation: Since the prices of food grains and other essential commodities in the open market have been raised sharply during the past three months, so
the political party in opposition has given a call for general strike to protest against the government's economic policy.
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(12) Statements:

I. The farmers have decided against selling their Kharif crops to the Government agencies.

II. The Government has reduced the procurement price of Kharif crops starting from the last month to the next six months.

[A] Statement I is the cause and statement II is its effect.
[B] Statement II is the cause and statement I is its effect.
[C] Both the statements I and II are independent causes.
[D] Both the statements I and II are effects of independent causes.

[E] Both the statements I and II are effects of some common cause.
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Answer : [B]
Explanation: Since the government has reduced the procurement price of Kharif crops starting from the last months to the next six months, therefore, the
farmers have decided against selling their Kharif crops to the Government agencies.
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(13) Statements:

1. Large numbers of people have fallen sick after consuming sweets from a particular shop in the locality.

II. Major part of the locality is flooded and has become inaccessible to outsides.

[A] Statement I is the cause and statement I1 is its effect.

[B] Statement I is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.
[E] Both the statements I and II are effects of some common cause.
Answer : [D]

Explanation: Both statements I and II are the effects of independent causes.
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(14) Statements:

I. Majority of people residing in the locality have decided to protest against the municipality authority's decision to allow construction of a
shopping mall in the locality.

II. Many shopping malls have been opened all over the city in the recent time.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement 1 is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.

[E] Both the statements I and II are effects of some common cause.

Answer : [B]

Explanation: Since in the recent time, many shopping malls have been opened all over the city, therefore, majority of the people residing in the locality
have decided to protest against the municipality authority's decision to allow construction of a shopping mall in the locality.
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(15) Introducing a boy, a girl said, ""He is the son of the daughter of the father of my uncle." How is the boy related to the girl?
[A] Brother

[B] Nephew

[C] Uncle

[D] Son-in-law

Answer : [A]

Explanation: The father of the boy's uncle — the grandfather of the boy and daughter of the grandfather — sister of father.
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(16) If D is the brother of B, how B is related to C? To answer this question which of the statements is/are necessary?

1. The son of D is the grandson of C.

2. B is the sister of D.
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[A] Only 1

[B] Only 2

[C] Either 1 or 2

[D] 1 and 2 both are required

Answer : [D]

Explanation:

Given: D is the brother of B.

From statement 1, we can detect that D is son of C (son of D is the grandson of C).

From statement 2, we can detect that B is 'Female' (sister of D).
Therefore, B is daughter of C.
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(17) Deepak said to Nitin, "That boy playing with the football is the younger of the two brothers of the daughter of my father's wife." How is the
boy playing football related to Deepak?
[A] Son
[B] Brother
[C] Cousin
[D] Brother-in-law
Answer : [B]
Explanation: Father's wife — mother. Hence, the daughter of the mother means sister and sister's younger brother means brother. Therefore, the boy is
the brother of Deepak.
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18)

1. A3P means A is the mother of P
2. A4P means A is the brother of P
3. A9P means A is the husband of P
4. A5P means A is the daughter of P

Which of the following means that K is the mother-in-law of M?

[A] MON3K4J

[B] MONS5K3J

[C] KSJOM3N

[D] K3J9N4M

Answer : [B]

Explanation:

MON — M is the husband of N

N5K — N is the daughter of K

Hence, — M is the son-in-law of K

K3J — K is the mother of J

Hence, — K is a lady
Hence, — K is the mother-in-law of M.
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(19) If A $ B means B is the father of A; A # B means B is the mother of A; A * B means B is the sister of A and A @ B means B is the husband of
A, which of the following indicates that N is the grandmother of P?
[A]IP*Q#MS$N
[BIP@QSM#N
[CIP#Q$N*M
[D] None of these

Answer : [D]
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(20) If P + Q means P is the brother of Q; P x Q means P is the wife of Q and P % Q means P is the daughter of Q then which of the following
means D is the uncle of A?

[A]JA%BxC+D
[BIAxB+C%D
[CIA+C%BxD
[D] None of these

Answer : [D]
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